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If the letters of the word REPRESENTATION are
order,

7. Pointingtoa boy in the photograph, Rajat said, "His
‘mother s the only daughter of my grandfather's
onlyson’. How s the boy's mother related to Rajat's
father?

inthe alphabetical order, which B
befifth from the left R sty 4
o R (© Daughterindaw () Granddaughter
al Y2 (© Noneof these
8. 1§ isthe brotherof ‘@', s the daughter of @,
e ‘8" is the sister of "’ and %' is the brother of » ,
fow man o

whichoare lmmedlnely preceded by 3 and
immediately followed by 87
sss7sass5esss5ussuzlsssssészs
5

(@) One ® Two
(© Three (@ Four
(© Noneof these

. How many such 9's are there in the following

wainkscanuincarhic s sl Leodiely

@ » ® *
©s- @ e
(@) Noneof these

9. Ashish started walking, positioning his back
towards the Sun. After some time, he turned left,
the tumed right and then towards et again. In

‘which direction is he going now-

@ North oy
© West @ South
© De

preced y byan even

sl fgbaimy

39549783921897315699516972

@ One © Two

@ Four

(@ More than four

Ina certain code language, ‘ACE'is written as'135',

'FEED" is written as'6554, then how will ‘HIDE' be

written in that code language ?

@ 7945 ©) 7865

(© 7845 @ 8945

(© 8965

In a certain code language, ‘POSTING' is written
bewritten

Directions (Q. Nos. 10-20) : Select the pair that has same
relationship as orginal pair of words.
Optimistic: Pessimistic

() Study:Play

(@ Rotate: Gyrate
. Threat: Insecurity

BRI gt ) Thinder: Ligharing
th

inthatcode language?
(a) MWAUQKKP
(©) MWAUPKKP
(©) Noneofthese
1f ‘P’ denotes * +*, ‘Q’ denotes ‘+/, ‘R’ denotes =’

() MWAURJKP
(@) MVAUPKKP

and ‘S’ denotes 'x ' then 60 R 15P35 6 Q4 =?
(@ 30 b 3¢
@ 150

© 9%
(©) Noneo these

(© Clouds : Rain Disease : Deat
(@ Fire:Bum

2
(a) River: Tributaries (b) Continent: Island
(©) Stream

alternative.
1. ine: Story : Article

(a) Tea: Milk:Sugar



(b) Televisic as- s
(c) Bed:Quilt: Pillow the alternatives. Choose the correct alternatives.
@ Novel: Drama: Literature 9. a_be_a_beda_ced_bed
(@) Cement: Brick: Building (@ abddbd &) achdbb
4. Village:City: Suburb (© adbbad @ adbcad
(@) Puppy: Dog: Bitch (@) acdddb
®) School : College: University M. _acca_ccca_accee_aaa
(© Continent: Country :State @ acca ® caaa
(@) Teacher: Professor  Lecturer © ccan @ caac
(© Transistor: Radio: Television © aace
Directions (Q. Nos. 15-18): Read the following information 21, —cdaab_cc_ daa_ bbb *ccddd
and answer the questions that follow ; @ bdbda ® bddea
(@ Eachsideofa cube s painted witha different
B e e S e
® Lis opposite S and 3 is opposite 6. Directi
© Whenb : purple. i
face with number s oppositeand maroon facewith 22, 1. District 2 Village
‘number 1 s a the top. Y PEE-Tes
@ Pink and cream colours are facing each other. s Ciy
(©) When number 2is facing the sky, number 3 is anits @ 53

ight,cream on it leftand indigo i facing you.

15 Which of following colours areon the adjacent sides
?

of the cream colour

® Maroon, indigo, bue, purple
(©) Maroon, indigo, biue, pink

35142
(@) Cannotbe determined 5124

Y 88 verga
aile

(©) Noneof these . Noneof these
16. When number, his facing you and £ Curd

R T e % ¢ o

@ Blue © Purple (5

(© Indigo - . @ 254,31

(d) Cannotbe determined . © 52341

(€ None of these o, = (@ Noneofthese
17. Which of the following faces has: 425, 1. Rainbow

@ Maroon ® Bue 3. Sun

© Pink (@ Cream 5. Child

(© Indigo - @423571
18. Which of the folloy Y © 451,23

Plisoie bonommaren e bEapeny (@ Noneofthese

@ One ®) Fve AR

(© Four @ six ot > m"‘"‘m“"

(©) Three

@ 25341

2. Recommendation
4 Discussion

® 35421
@ 53412

4 Happy

® 231,54
@ 21,435



@) 52134 ® 52431 34, Problem Answer Figures

© 53214 @ 53241

b e m
1

:

s.

27. 1. Yam =T @ ®O e
. Saree . 4. Cotton 35. Problem Figures Answer Figures
Cloth
24153 0 24351 ll
© 24513 @ 24531 @ ®©@ e
(©) Noneof these 36. m.,,,s.gu.u
26, 1. Probation 2 Interview,
i ¥
5. Advertsement 6. Application (;) o ewn d, =
@ 563241 ®) 564,231 37, Problem Fi er Figures
© 562341 @ 654231
W DR R PR
3. Rescue 4. Flood ”
6 Relief £ @ ®© @ e
R 35, Problem Figures Answer Figures
@ 412356
B Gy
Scissors : Lever:: Toothed wheel :2 @6 ©@e
® Gear 39, Problem Figures Answer Figures
i ARE NS EREN
AT S| KB
alding: @ ®©@ e
(a) Engineer (®) Contractor 0. A,n,npm,chm klnplly‘n&ﬂkgﬁmz
() Weigher (@ Appraiser rroms. Ajit and Bipin are patners. Deep:
(¢) Noneof these lntanﬂ.h lh]lll.(swnl,wlmwlll face South?
% inon Bt AU 2 (@ Chirag () Deepak
(a) Deficit Revenue (€) Bipin (d) Cannotbe determined
() Noneof these

(© Debt (d) Tax

(€) None of these
Directions (Q. Nos. 33-40) :
contains fi i

Fach of the questions below ¢ sh Language
’andﬁ 3 i . Eng,l e

Directions (41 - 50 : Read the fllowing passage
e ly ertain
e pm\ﬂm\ figures i the series continues.  words have been printed in bold to help you Jocate them

. Pmb!mﬁsms AnswerFigures ‘The Emperor’s brother-in-law was also his Prime
[EaT0A] RlElAE]

OITI018] QIBIAMIE] o iy sy

@O ©@ © Appolmmveol\uaspﬂmtM.mlsw’su\rwnusmalsgnn

sty the right person to be Prime Minister. “At
the Prime Minister was outhunting with another



Courtier. In pursuit of their prey they mistakenly rode o

@ mﬂrmummm“mmm&

weapons they were arrested as spies by the soldiers there

mmmmwis;xmﬁedzndbowdhﬁ}nd-m i
The Prime Minister py preending o be e praying

Amir,

something in his ear. The two of began, I
SIS th ot st cach of s T s
he

present were
brought the two before King

®
10) Hehad prayed fervently asking god tosave ther
(@) None ® Only(a)

© Only(®) (@ Both(B)and ()

© Only

Which of the following can be said about the

(@) He reserved important posts for his family
‘members i

ily except his

hear ofthelrsrange behaviour, “Tell me iy g s
eager todie ?” Pretending to bereluctant reason
the Prime Minister bowed respectfly and said, “Si g S &) Hehad chosena worthy Prtme Minister

Pt st withossin vour gy (9 He was ruthless and Wanted to conquer the
k:l!usthe&npnwtanamckvw i

“ @ He treated s
W brother-n-i
© He d!l.lbenkly endangerd the lives of his

ﬁmemm.“ﬂngmwawmu

el ot e RO 8 et i s
them home. When u.ey hexrd aboul uw i &
s ol &) They wanted o distract the sodirs s they could
They relod the s..\,,m,, e
selecting his ®) Itwasa delaying tacti ill they were rescucd
a. Whywmliumlﬁmnutonsmd St oy ey blamed each ot forth prdicament they
Emperor’s brother-in-law? o S e e i ;
(@) He was his Prime Minister and. © @ The Prime Minister wany ed to stop the other
courter. courte from divulging the Emper s i et
theenemy

(®) He was cleverer than they were s
remind them of it el

@,5e & was empovwered fo take

@ mmmm.ﬂm
than they di e
(@ Noneof these

42 Why did the Emperor’s two
neighbouring kingdom?
(@) The Emperor had asked
. itsking

) They wanted to spy on the.
kingdom

(© They had accidentally wu&
neighbouring territory

(@) Theother courtiers had seta trap|
(0 Theircuiosity about the inglom

. Why was the Emperor's brother-n-law notafaid
‘when faced with death?

i Vo o these
46 What ot surprised King Amir bout the couriers

w ﬂeywmvery repectial tohim lthough he
‘had condemmed them to.

® Mmsvnlm'«nngmbehnzd frst

{O They had managed to convince the soldiers to
them free.

set
(@ Only(a) ® Both(A)and (B)
@ Only(©) (@ Only(®)

(@ Noneof

47. Why did King Amirset the two courtiers free?

(@) He believed their story that the emperor was
Planning to attack

®) Hehad great respect for their courage

(9 He had ascertained they were notspies sohe set
them free

(@ He was impressed by the wisdom of the
Emperor's courtiers

(© Noneof these



<o . 5 does not describe the

. reaction to the courtiers” request to --ﬂ.u;uwadpmummum".w

me of them as Prime Minister?
te thought about asking his brother-in-law o
® Hey‘ hisbrother-in-law to prove he wasbest et
mmwposmfmﬂ e (@ Inconvenient
(©) Hedisregarded it completely and punished the
courters.
(@ Only (&) ®) Only(©) v
© Both(A)and(©) (@ All(A), Band (©) (© disclose @ hide
(e) Nomulthcu (e) invisible
49, NOT! i (®) d (d)
it SR
his people “no correction is required’, mark (e) as the answer.
9 To Empoocs bosriaw o v .. Inthee et heywillos el omest
theassign target to them.
. Hns @ i
o c::mw..m s bravery B bl s
the postof Prime Miister ©
© The Prime Minister was a quick thinker (d) Targetdssigned
s e o dnpe o they e @ Nocorrecton required
about the prime Minister's safe return’ 57, Banks must be ensured that 18 per cent of their
(@) They were disappointed because their plan had Toans is given tothe agricultur:
failed (a) Areensured
(®) They were ashamed of their plot to kill him (®) Havetoensure
© They ©
@ @
(&) Noneof these (@ Nocorrection required
8
51. SUBJECT () Beneficial () Forbenefitingto
(@) Topic (®) undergo () Whichwillbenefit (d) - Benefited to
(© expose () citizen (@) Nocorrection required
(@) accountable 59. A date for the committee meeting to discuss the
a2 PRETIXT, details of the proposal is yet to be decided.
(@) Willbeyetdecided
@) excuse ®) guess 5
© crime @ eample () Isbechdecided yet
© tad (©) Have not been still decided
. PETRIFIED (@) Isnotyetbeen decided
rpeie i 6 i e i by the ity i
(© feared @ alarming e e Tt capech
s (a) Owingto the heavy rains



() Because of raining heavily
(©) Since heavily it rained

67 Which of the following should be the SECOND
© sentence after rearrangement?

@ Inraining heavily _ 2 @ B (s
(©) Nocorrection required 8 ¥ LR S
8. Which of the following should be the THIRD
s on 2
‘may be either A B
o Fdeu e i Dot A s
anebpropriate f any. The number of that word & your .« (© @
answer.If tall the words printed in bold are Spelt ©E
Lo Anoappropriatein the contextof the sedence, markle) 68, Which of the following should be the FOURTH
ie-"All correct as your answer. sentence after rearrangement?
€1 Since peroleum products aretaxec 1)/ heavly ey @B ® C
are a majar (b)/ source (c)/ of revenue foe th ©D @E
government.(d)/ All orrect (¢) g
€2 Bventhough the proposal appears o) practical @ v
he committe should discus (5 ok g gy 70 Which f the ollowing should be the SIXTH (LAST)
Allcorrect. (e) sentence after rearrangement?
63. mmdm.mkmarkamsbemmom--du;/ ), ® c
performing (b)/ markets globally (c)/ during the ©D @ E
curtent (d)/ year. Allcorrec (e) ©F
64, Hadth
i bave generate (¢ atracted () retume A o Riteal atvor o tic error init. The
correct (e) el be in one part o the sentence. The mubrs.
65. Peopleshor da, - I there i the answer s

o ronder to be effctive (b)/ and effcient (d)y Al
correct. (¢) 3

7 e ciizens prefer o) banks which 1) branches

ions (66 -70) -
B), (C), (D), ) and

Diesctions .
@, mmpmpug;.‘-.ﬁ
‘Mmeaningful paragra, h; the the o

below them, -

) With all this experimentation he incurred an
\di of over, efore success

=

(@)/ Norerror (e)
7 ) helatetstatstics (2)/ China supplies more thon
{B)/ninety percent of the (c)/ steet y
(@)

B/ the causes of frequently (c)/ delaye
i ioerror (e)

‘smiled on him. Pprojects. (d)/ Ne
e e .
T ‘Bank (b)/ has deci their office in
‘with over two thousand items, € Hongkong. (d)/ No error (e)
ra asmuchohs 75 Mastofthetribals )/ i the region (b) are depended
e it of g ot oret ()t 6am e e
exror(e)

(®) However he did notinventit over nightt. o
(F) His friends too travelled all over thes
ke 1

After graduating from college (a)/ having an
inceri he received ah

66 Which of the following should be the FIRST
sentence after rearrangement? -
@ A ® B 3
©c @ d 3
@E 3

fromareputed American firm. (d)/ Noerror (&
In order for (a)/ the scheme tobe (b) successful we
require as (c)/ much as twenty investors. (d)/ No
emor(e)

B

‘The insurance company has plans (2)/ to hire 30,000
‘agents (b)/ ata time when (c)/ most companies are
cutting jobs. d)/ Noerror (¢)



79, , One of the important lesson (a)/-he taught me was o

© AsB @ A=e
@

(d)/ Noerror (e)

80. Duetothe financialcrises 2)/ the price of foodgrains
o)/ hasrisen sharply (0 overthe pasta few months.
(@)/ Noerror (e)

When 1 is even, the product n (x + 1) (1 +2) s

81
divisible by :
@24 28
© 10 @20

(@) None of these

52, The number of divisors of 120 including unity is
@ 18 ® 13

@16

() None of these

85, The set of negative integers is closed with respect
wo:
@ addition ) multplication
(@ bothaandb (@ division
(© None of these

84, How many prime numbers are of the form 101 +
1 where 16 a whole number such that 151 <
02
@2 ® 3
© 4 @ 5
(© None of these

45, Which one of the following is a true statement ?
(@ 0is the additive identity for natural numbefs.
(©) Every rational number has its reciprocal
(©) Integers are closed for subtraction
(d) Real number are closed for division
(© None of these

86. Au(B-A) equals:
@ B ® A
© AUB @ B-A

@ B=C ® BcA
© AcB (@ None
(@) None of these
88. 1f and only if :
® BeA

s 16552 = 234, the value of x is:

9.

2

. 1f x* = 676 then the value of x i

@ 324
©s8 @ 256

cach member of the group as is the
number of members. If the total collection
mhbhll!/h—nbﬁnimmwn in
the group s :
@ 37
© 4
(&) None of these
The value of (111)s
@ 12321 (b) 123454321

@) Noe of these
A group of students decided o collect a5
paise from

o 47
@ 107

© 123421 @ 12031
() None of these
TR e e

7

1
® 36 ® 16
1

©4 @ 3

(© Noe of these

A producer of tea blends two varieties costing 18
‘per Kilogram and another *20 per kilogram in the

53 1 he sells the blended variety at ‘21 per
ogram, what s his gain percentage?

@ 10% © 12%
© 19% @ 2%
. Express 40% in decimal terms.
@ 04 ® 004
© 0008 @ 4

(e Nore of these

. Express 30 as a percentage of 45.
5

(a) 6666 ® 6
© 6266
() None of these

@ 65



5

8

101,

@ 12:18 ® 21 w
(© Botharcequal (@) Nothing
(@ None of these -

. Salaries of A, B and Care in the ratio x_3
whatis the value of
1:2: 3salaries of B and C together is 5 "-’ adhen e
*6,000. By what percentage is the salary of C more @ 3:1 ® 3:2
than that of A? © 1:3 @ 1:2
@ 150% ® 200% (© None of these
(©) 250% @ 225% 106. A, B and C can do a work in 20,18 and 14 day
(@ None of these  respectively. Band Ctogether did the work 4 day
ket team won 40% of the foal number of  ‘and theremaining worlk was completed by A, 1o
i i - Ifitlost the share of A i 2520,
matches played and 20 matches were drawn, what (@ Rs.1380 ®) RS.1440
was the total number of matches played by the PR 1210 ) Rk
team during the year?
® 150 ® 200 i ot
() 125 @ 150 107. k-l-lallﬁmﬂunlmdoxwwk.i:ukeslimt
e ‘equal to A and B together. If three together can do
(&) None of these the work in7 days then in how many days a alone
Atrain 180 m i
hr.In what time it crosses a man going ata speed of o jays
6 km/hr in the same direction? QT e o
(© 8days (@ 34days
@ 11 seconds ®) 21 seconds o
(c) 23 seconds (d) 18 seconds s,
108. A, Band C ther contracted to do a work for *
(e) None of these by i P
y - 450. If ratio of their work is 9: 5 :
A train whose length is 120 m, crosses a bridge in o ¥
of the bridge? - e ol
® 75m ® 8m e s @ 180
© 85m @ %0m {e) None of these
(@ None of these » 109 3“ the least number which when divided by s,
A0 m ong goods train crossés  platfeem i 36 and 16 leaves 3 as remainder in each case, but
scconds. Ifth 20m then when y7,le
what s the speed of the goods train in kavie? @ 84 ®) 98
(@ 60 ®) 72 > Tre s @ 147
© 80 @ 85 i (© None of these
(©) None of these o 110 Find the greatest weight which can be contained
In what ratio two types of tea kg excatly in kg 235 gm and 430 gm.
and vmp«k;.mmmawmwn. @ 1gm ) 2gm
mixture is 116,50 per kg? © 3gm @ 5gm
@ 5:6 & 738 (©) None of these
© 6:7 3 L. Fiod the ic. t number divisible by 4, 6, 8 and 20
(@) None of these - and it must be a perfect square also.
What s the value of xif 17: 25= x: 1508 @ 90 ® 400
© 3600 @ 1800

(e None of these
Find the least number which, upon least divided
by2.3,4,5and 6 leaves in each a remainder of 1.
@ 50 ® 55

© 58 @ o1

(@ None of these



14,

15,

7.

19,

" of asmuch money as he received for 20kg. atwhat

© 80
Ammm«m..umm..nnl-ns—

General Awareness

mlxumduﬂlihmalﬁol 2. Whatis her gain

orloss percentage?
w2 ® 3
© 4 @ 25

(© None of these
Aboybeysegpantt ey tbemd slletbom 1
for *2. Whatis

his gain or loss percentage?
@21 ® 2
© 15 @1

(©) None of these
A vendor bought bananas at 6 for 5 and sold at 4
For 3. Find his gain or loss percentage.

® 1%

@ 25%

A man sells an article at a profit of 25%. If he had
bought it at 20% less and sold it of 10,50 less, he

121. Which event brought about a prosound change in
Ashok's administrative poli
(@) Thelam War ) Kalinga War
© (@ Allof these
(@) None of these
122, The Greek ambassador sent to Chandragupta
Muarye's court was -
(@) Megasthenes ') Basgodigama
© SkandGupta (@) Allofthese
(@ None of these
125, European power from whom Shivaji obtsined

Cannoj and.

(@ Hindu, Budha and jain
@ Allofthese

(© 1090%
(@ None of these

el bavegned 5. Find e CPof el
ot P © None of these
o o g 125, Whowas Ami Khusro?
© None of these @ Politicsian ) Astrologer
. A sofa set i sold for 632 The gain i equal to the © Musician @ Noneofthese
Tosewhenit 0 or 154 What s the cost price © None o these
126, Who was the ian woman to sclae Moun
ot e Who was th s ndian woman (0 slae Mount
@0 @ ‘a7 @) SefaWillam () Kalpana Chawala
@ Noheor Bese (© BachendriPal  (d) Allofthese
Byslinganartlefor S1ashopkecperioes . © None of these
2 2 72 capital of
17.»: % . 2 g
0 Lo o S - -
i @ Gaine (© Nellone @ Alofthese
ey (© None of these
bought 21 pens for *20 and he sold them at i : .
rvpte ey ‘Whatis his gain%? R leatedt
(s (R @ thlg;rh ® Chandigarh
@ 1666% @, Jharkhand

(e) Nonem'ltae



of the following is the first national Park

The worlds only Floating National
locating in India

(@ Pune P -NMNM

(@) Homijahangir Brabha
®) Vikramarabhai
(© APJ. Abdul Kalam

‘Which one of the following s the most
in Indian polity?
(a) HighCourt ®) Religion

(© Constitution (d) Allofthese:

(@ None of these
“Forest Research Institute’ is located at -

Bankofindia (b)) Bank of India
(@) Lucknow ® Rajpur CeBankotindia. (0) Alofthee
(c) Dehradun (d) Mumbai 3 these
© Diid ty of America was bomb blast incident
Indian constitution is divided into ...... parts.
@ 21 ® 2 ] (®) Washington
@ 22 @ 18 (9 Newyork (@) LasVegas
(@) None of these ©) None of these



7.

148

149

WH won the Brazil Open 2013 at Sao Paolo?

(@) RafaclNadal (o) RogerFederer

(© Mahesh Bhupati (@) Mike Bryan

© None of these

Whatis C1547

(@) InterceptorBoat  (b) _Inferceptor MISSILE
&) ntrcptor Azt

©None of these %,

Who inaugurated’Tndia's First All Women

Employee Post Office at Shastri New

Delhi?

(@) PranabMukherjee

) KapulSibal

© Chandresh Kumar Katoch

(d) Sonia Gandhi

© None of these

How many writers were honoured with SAARC
Literature Award 20137

@3 © 4

©5 @ 6

)
(©) None of these
Tndia has so far signed the Social security
countries.

@ 15

© 19

(© None of these

Coal India Limited for the production

o soukmthe erninal l yesf B Hal s 1)

has been placed at ...

@ 215

© 415

(e) None of these
forinstallationof CCTV.

Tty 15
@ 515

3 roposal cameras
Inselected godowmaat Foud Conporstiomof India

n pilot basis it is being introduced at
dq;msmihme:hm

@19 ®) 1

© 13 @ 15

(©) None of these

. The National Food Security Bill introduced in Lok

Sabha on 22:12-2011 provides for coverage of 75~
and ....... of the rural and urban population
respectively under Trageted Public Distribution

© 25%
@ 75%

@ None of these:
‘Whowon BT Pro Am of Champions golf foumament

(a) SmritiMehra licollet

(© Shalini Malik (@) Neha Tripathi

(e) None of these

Who inaugrated the seminar on the theme
Railsways' Role from Transporter to

Transforming
Logistics provider' organised by Centre for
Transportation Research & Management
(CTRAM?

Tl which country's Parliament passed
errorism Authority Bill?

(®) Pakistan

(@ Bangladesh

@ lndn
{©) Nepal

(©) None of these
Woh has been elected
Council for 2013-147
(@) Shyam Srinivasan, (b) VK. Mathews

© CJ.Georee @ LM.Iyyer

(@) None of these

Who was awarded with cht City Proclamation
Award in Loas Angeles?

(@) Kamal Hassan

() Amitabh Bechachan

(© AnupamKher

(@) Nana Patekar

© None of these

Chairman of CII Kerala State

2 Greenfield Integfrated

NMDC Lid. s
Steel Plant at Nzgarnu, Bastar District in
Chattisgarhat. ted cost of Rs. ... crores.
@ 15525 ® 25525

© 355 @ 45525

(@ None of th

(@) Prime Minister of Malaysia
(d) Presidentof Malaysia
(©) None of these



1

- s per the report on State of

. 15th SAARC Summitis scheduled fobe held in uly-

. When was the SAARC established 2

Computer Knowledge & @ 2
Lo 2 - ‘Committee recommended abolition of tax
.. given by the Asian Development (@) ChellishCommittee

which of the following rates in 2008 2
(@) 6% (0).5%
85% @ 8%
(&) None of these

Investment (FDD) limit for Public Sector

(@) Switzerland ® Malta

@ 26% ®)a9%
© 1% @ 5% (©) The Czeck Republic(d) Poland
(©) None of these © @) None of these

7.

February 13,
country?

(@) 22.20% ®) 21.30% ..

© 2060% @ 1990% .

(©). None of these

3. iy 172 “Sagammala’isa name associated with—

13th Finance Commission has been constituted
under the Chairmanship of —
@ Y.SP.Thoat () ViaiL Kelkar

(© T.S.Vijayan (@ Laxmi Narayan
(@) None of these’
SEBlisa—

®

(© Consti

(©) None of these

{August 2008, The changed venue of the summit Bothin current as well a¢ in capital account,
2 ] g Rights (SDR)

(@ Ncw Delhi ®) Sri Lanka 1 of

(€) Maldives (@ Bangladesh ‘President of FICCI (Federation of Indian

(@ “Noné'of these c e of Co Industry) is—

(@) On December§, 1984
(b) On January 1,1984
() OnDecember 8, 1985 el ‘
(d) OnJanuary 1, 1985,

©) None of these
What s
of European Economic Community ?

275, As per Revised Estimates for 2006-0 released by
50, i
estimated to be—




176

181,

‘based on normal template?
@ 10pt ®) 12pt
© 1pt @ 18pt
© 20pt

@ 9% © 92% 185. To insert a drop cap in-a paragraph you should
4 access:
© CIR o (@) Inertmens ® Format
(©) Noe of these P b Mo ot these
CENVATisrelated to—
(@ Allof these
P Lidit e 186, Omwhich toolbar can you find format painter tool?
9 de";ﬁ, ok (@) Standardtoolbar  (b) For Malign tool bar
it © @
(2) Alllabours in rural areas (@) Scrollbar
® . por 187 ds f
rural areas. (a) Videographicsarray.
© Al labours in urban areas. () Visual graphics array
©
0 Nommotthes (@ Video graphics adapter
According to 2001 census urbanrural population (e) Visual graphics arrangement
2tio ot . 186, MSlstands for
@ i‘:‘ E:; z:“ (@) Medium scale integrated circuits
AEs ‘a,); Mediumsystem ntegrated ciruits
@
@ 8011 MT © %00M @ Noneofthese
© 934MT (@ 10160MT 189 The output quality of a printeris measured by
(© None of these (@) Dots per unittime ' (5) Dot perinch
. Accordingto 2001 census the state having highest (© Dotper&q.inch (d) Allofthese
S pretlomieony o © Noneof these
@ UP. Maharashtza 190, Inlatest generation computer,the instructions a
© TamilNadu  (d) Kerala executed: s s e
(©) None of these (@) Sequentially () Parallel
The fastest printeris. (© both(@and(®) (@) Randanly
() Jetprinter () Thermal printer (@) Noneof these
(© Inkjetprinter  (d) Laserprinter B iy e nd muinain
computer equipments i referred as:
" (@) Console- ® Sysem analyst
@ Source ®)_ Daasource (© Peopleware (@) Programmer
©, Mail data (@) Datasheet (© Noneof these
(@) Database 192. Modem computers are very reliable but deny are
‘Which of the following is not available in insert:- nok:
(@ Chart ©) Wordart (@) Cheap ® Infallible
(© Clipart @ Graph © Fast ) Powerful
© Allofthese © Accurate
What is the default font size of  new Cocument 193 ASCII stands for

() American stable code for international
int

(®) American standard code for institutional
interchange
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——
O am standard code for information 197,

@ Ame‘n(ul\ ndeit coic il w

© Nmmm AL

(a) Electrically erasable programmable iy
memory.

) Electronic erasable programmable read only
memory

(©) Easily erasable programmable read only memory

(@) None of these

© Allofthese
Which of the olowing companies developed MS

office 2000 200,
@ Mlcmﬂ ® Corel &
(© Novell (@ lotus

(@) None of these
Which is not a part of a standard office suit?
-

© Imageeditor
(© Allofthese

198

‘Whichis not a special program in MS office? <

(@ Officeart @) Clipart

(€) Wordart (d) paintart

) Allofthese

“The animated character that gives help in MS office?
(@) Joystick ) Officeassistant

() Assistant (d) Allof these

(@ none of these:
‘Which input device cannot be used to work in MS

(@) Joystick ®) Lightpen

(© Scanier (@ Mouse

(@ Keyboard

MS office 2000 included a full- fledged wed
designing software called:

(@) Frontpageexpress () Front page 2000

(c) MSpaint (@ Msword

() Allof these
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